Q1 SNS ASFXIAl &’ XAl

~J

Ok
ol

ol

o0
©J

I

b &Ef m}e

k=1

2X| A2 ol

1)~2020.08.07.(2)

L A5 AlZE 2 SNS
=1

L

-

2020.07.28.(

SH
=K

-
o

2.
Al_ Hldo-

x
e

3

C

0l0

15%)

(2% 48

q

o

© 9

]

ull

=
or S

5t

=X[ofl o

[A. SNS

<+

ul
00

—

|

m

ol
*vﬁ
<l

oL 2

Ul

—

i

=
IS
4r
I+

ofL| 2
10

=l

=
—

A

19
23

ojL| 2

L]
19

21

Etotc SRCAH A B

26
28

ojL| 2

El

IH

"
Kl

o
ol

olo
1

QI

a

shHE &

e of

H AlZE 2 HEFXIAI(

<]

(Ul 24, ot{2 25)0iM SNSE S&t AlZh 2| HFXIA(2HE o

277H(

So=zE| SNS ¥R

18

= OldE FA

E| X}
0o

oLt 20| otd

7t Xl 2

A
2 %

1

-

ull
00



I

|
0lo

[B. (™) Y= A[ZF  SNS HFX|A|(2

o P

=

S : - e = T @ S
ol
o ® S - @ 3
E)
o
mn il
R0 RO
= Al 7 w il
2 N N 2 N
oIk - | R or IoF Xl
T I T T T n o
T RO RO 4 RO 4r TR
ol ® ® I+ ® I+ gl ® I+
<
T T T °©
o (= o ==
0 (oY} o = [}
3

HE0| MUMo= =H LEl

ol

—_

N

0.

o
11
P

| LolLtd UAS

110

.

[=]

Td

XIAI(2H thah 7t

=
e



[C. T AlZh 2] SNS HFX|A|(2& chish) 7t

<+ ra il _
il 2l =___= o
ol T 2 HH
| o 2 5
ol Ra = =
< U S
= J © =)
J & A
= LU TR
G+ = —|lo|lo|lo|a |- |2 o |z | Ny ™ <F m.__.r._
il ny KO Al
o amo =<
S K
o
i ol 30
W oW
no N z
{I
T
A n
I_ no=
IH ol ol ol ] o ol i —
r+ il i il il il = =
" ol ol ol ol ol K N ~
KT W | 20 | W) 0 | M| 20| M| 20| | %0 aF mo_n <
WS wm|°|m|°|@m| °|®m|° oz o
Wl | MO | @0 | 0O | @0 | 00| @ | f0 | mo | o o T
ol | KO | ol | KO | o | R0 | ol | KO | ol | KO | = J i il
SR G TR e A e A e A O K &l —
3z Wyq
K uu 03
ol ol oln ol ol Ko g- U A
J M K K & H 1 - 0/0 iy
el oF 4 S 4 o o 90
E_ 1 T m] K m] T X
0 - - - - - ~ N
n 7 7 T 7 7 mm N3 2l
_ _




[D. 5 AlZF 2 SNS HFX|A|(2HEH i3It FTEFE AZEE=I1

el 82 £, %]

AT AlZE 2| N
o|= o == T =
SNS R X|A|L] (24 MER) HlE

Azt T

F53 olg 6 11.5%
SMRRE, B, B 5) 21 40.4%
STHMENY, B 5) 15 28.9%
5 5= 22 IR, HY D) 5 9.6%
A3BARHDS, 84 5) 3 5.8%
7|E} 2 3.8%
g Al 52 100.0%

— SNSE S8t AlZh o HFX|AI(ZHA ciah el EEt o|&fo] FME o|d=aFE AlAE

- EEgWHE, sty S)2ZFH A[RE= SNS AlZE 2f AF XAl Al 30%01 777t



<l

[E. 217 AlZh 2] SNS HFX|A(2H tishEs F

%]

JF
A
00
B
o

31.8%
27.3%

22.7%

18.2%
100.0%

14
12

10

44

FARE K|A|
XAl

—

2 Az 2|
SNS 212 x|A|Q]
LH! & 2of cis

Kl

ol
o

Ly

m}
zl

X0

—_

__O_

oll
ol
00

<+
n

AI™ K|A| M2Z49| SNS oi2to| 7}

3

7|El

<)

2lof cH

oju

=

ol
-

olo



[F. ®F AlZb 2] SNS HFXA(ZEH ofE)E o{EA Hi=lE ATt
[kl 3]
SE AT AlZE 2 SNS HFX|A|(RAECHEh= g3l o AFAA (A ofgh) S
HS dFa Wi FH 3| Yds=o1? | S7od ZGAE2 dFY 37 F A=
1 0.5 0
2 1 0
3 2 2
4 7 0
5 1 0
6 2 0
7 3 1
8 55 3
9 4 0
10 1 0
11 3 1
12 3 3
13 2 0
14 3 0
15 3 0
16 1 0
17 2 1
18 1 0
19 3 0
20 55 0
21 1 1
22 1 1
23 3 1
24 4 4
25 5 2
26 1 1
27 35 0
BHA| 72.0 21
¥z 2.7 0.8
— AlZh 2| SNS HFX|A|(2A fsh) R 278E 7|Eez, & Ha 2.739 AlZt 2|
SNS AHFX|AIZF 25t /US
— HhH SEAL ZHE0IM St W, €5 AlZh 2 AA(ZHE ofsh)E slof 2 =2 S3H
a2 & "o 0.83[0 Sufet A2 ZAE




O EA Hi2tE Z 2Tt

=
=

[G. AT AlZh 2 SNS HFX|A| (A CiE})

%]

JF
ul
ol
=
!

o © ~ < o
N~ ~— m
<+ N o~ ~ xQ
il
00
i
= Ki
N ol
< tjo
W - | or
TS
— = | O
T RIT 5
o | K
u z @ A
LT
ok D |3l o
ol |y
(%) ol | < ol| —
zm |ww| x| L K
— o B N ¥l
o ® o____Aﬂ_.:._.u._._
~ B0 o o | X1 gy
N = -
< ° K 81l 5
o W o
sl 2| K o
~ S| B0
_ Hlo
2_._%”_0_._
= Hf |
N 3l
< |_Mﬂ
o+ MUl
ol o
pal

AsIRIe| 78.6%7F AlZF 2] SNS 92 X|A|

IXIAI(2HH =)

S
[ =]

— A7 9| SNS Y2X|A| A

==
03

1L
=

— AZRIel A|ZF 2] SNS AEX|A|I7} ZIZstn =2

5 YR A9

AlZF 2] SNS Z2X|A|7}

)b M AlZbof 0| Rix|=

S SNS §EX|A| (22 Cf



ol

ol

t= ZOo{AL ZF HAIX] =5 {FE SAl

SNS CHis

L ze

QETD

|HE, SAMet &2 77t

-0
2!

ol
0%

B

ol
o

A
0%
&

ol

- metAd 4R AlZE 2] SNS

At &M

iKX= 5 AlZE 2| SNS €7 o3t A=

S 50| SiEA=FE XA X 2= EEHRL

A5

h=|of

ol
|

THl

il

o
ol

ol

N

0j
__2_.__

o
Ujo

%0

13| eojLt=

H|H
—_ —

sff A4F AlZh 2| SNS HFX|A|7}

5]

PUSE H2f

3

{l cH

Chx

- LS 22 AlZE JiFo] slEtet dF 2AX| XA = JHAE

Thx|| Of o]

KM=

Ol CH3

5}

S7t L Al

Ho

X&EAMoZ2 2

|oilA SNSOi| o| st

=
=
9|5

N

| AT AlZh 2| SNS AT XA AlEf
1l

EIX £)o
Ooc o/

XAl =t

i

of|



